Efficiency vs Dxy(PV)
0.8,

o o o

efficiency vs dxy(PV)

o

0.

5=30-15-10 =5 0 5 10 15 20 25
TP dxy(PV) (cm)

—=— DQMstep3_TT_CKF
—e— DQMstep3_TT_default
[Efficienc] —— DQMistep3_TT_defaultNEWTepo?

=4

efficiency vs dxy(PV.
(4]

I
~

o
w

—1—08—06—04 02 O 02 04 06 08 1
TP dxy(PV) (cm)

Efficiency vs Dz(PV)
1.

SR T T T
o L N N .
§ f : :
o I ereerieee e
s F . . .
g f : : :
© 0.8 FRRREEELEEEEE RREEEEEEREEE
S I : : :
b= r N N N
@ - : : :
0.6 = rwreeee SRR REFITEEEE ERREEE Lo
oaf b ] ------ S
S S - e
[ i | | i i
o+ .
§ .
| e YT .,++...., ------------
0% =20 10 0 10 20 30

TP dz(PV) (cm)

Efficiency vs Dz(PV)
1.

H
!

o
)

efficiency vs dz(PV)

o
e

o
»

0.5 1
TP dz(PV) (cm)



	Contents
	Page 1


